
ELIGIBILITY AND WEIGHTS CALCULATION  - CONVERSION OF IRISH PTP PERFORMANCES  

 

For the purposes of determining eligibility and the calculation of penalties, the Point to 

Point Authority have deemed that the following conversions will apply to performances in 

Irish Point to Points: 

A ‘Winner of One’ race in Ireland  is deemed to be a Restricted Race  

 A ‘Winner of Two’ race is deemed to be an Intermediate race  and a winner of such  race 

will therefore carry a 5lb penalty if entered in an Intermediate race  in Great Britain. (NB. 

should the horse win this Intermediate then it will be ineligible to run in another)  

 A ‘Winner of Three’ race is deemed to be  an Open race, and as such a winner of such race  

will carry the relevant penalty for an Open win in Great Britain. 

 

    

 

  


